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sin’x + cos?x =1

sin’x = 1 — cos?x

cos?x = 1 — sin?x

Ex. [ (sin’x + cos?x) dx
=[ldx=x+c
Ex. [ V1 —sin2x dx

= [/ cos?x dx

= [ cosx dx = sinx +c

Ex. [cos3xdx

= [ cos? x cosx dx
= [ (1 = sinx)cosx dx

)
= [cosx—sin"X cosx dx

3

sin°x

3

+c

= Sinx —

} 1
= sinx — —-sin®x + ¢
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EX. fSian dx
=f(sin2x) sin x dx

= [ (1 — cos?x) sinx dx
= [ (sinx — sinx cos®x dx

cos3x

3

+cC

= —C0SX —

1
= —cosx — 3 cos3x +c

EX. fSinS x dx

:f(Sinzx)z sin x dx

=f(1- coszx)zsinx dx
= [ (1 — 2cosx + cos?x) sinx dx

= [ (sinx — 2cosx sinx + cos?x sinx) dx

— — cosx + 2 CO;ZX _ c0§3x + C

3
= — cosx + COS%x — CO; +c
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sin’x = 1— cos*x = (1- cosx)(1 + cos x)

cos’x = 1— sin’x = (1 - sinx)(1 + sinx)

2
Ex. [ =" dx

1-cosx

fl— cos?x
= | —— dx
1— cosx

(1—=cosx)(1 + cosx)
dx
1— cosx

=j(1 + cosx)dx =x+sinx+c

2
Ex. [ ——dx

1+ sinx

jl_ sin?x
= | ——— dx
1— sinx

(1-sinx)(1 + sinx)
= - dx
1— sinx

=.[(1— sinx)dx = x + cosx + ¢
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sin2x = 2sinxcos x

cos 2x = cos*x - sin’x

cos4x
Ex. EE—
f C0S2X—Sin2x

. f €0s%2x— sin?2x
coS2x—sin2x

sin2x)(cos2x+sin2x)
. dx
cos2x—sin2x

_ r(cos2x—
J

[(cos2x + sin2x) dx

%sian - %cost + c
Ex. [ sin6x c0S?3x dx

= [ 2 sin3x cos3x cOS? 3x dx
= 2[ sin3x €0s33x dx

=1x _ig [ —3sin3x cos33x dx

4

-2 c0s*3x

= —, + C
3 4

-1
- cos*3x + ¢
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Ex. [( c0S? x — sin®x) dx

= fcost dx

=—-sin2x +c¢
2
Ex. [ sin®x cos3 x dx

= f (sinx cosx)3 dx

B j (sian )3 p
sin32x

O

_1 '32 d
—ngln X dx

110 . .
= §_I sin?2x sin 2x dx

1
= §_I(1 — c0s?2x) sin 2x dx

1
= gj(sin 2x — cos?2x sin 2x) dx

i 1
jsin 2x dx — —_2_[ —2 cos?2x sin 2x dx]

— 2 —.
_Zcosx+2 3

1

8

1[-1 1 cos32x

; |+

=~ cos2x + = cos2x +
= 16COSX 4-8COSX c
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cos’x = 1— sin’x

sin’x = 1— cos?x

coSs 2x

= cos’x - sin?x 4wl

:sle Jasi cos 2x = cos?x - sin?x Alkal Asin?x 5 cos?x dad (aga

cos2x =1— 2sin’x

cos 2x = 2cos’x — 1

EX. [(1 — 2sin®x dx

= j cos 2x dx

=—=sin2x+c
2

Ex. [ sin2x c0S 4x dx
= [ sin2x(2cos?2x — 1) dx
= [(2sin2x €0OS? 2x — sin2x)dx

3
cos’2x 1
. —ECOSZX +C

-1 1
= ?0053235 — Ecost +cC
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sin’x = 3 (1 - cos2x)

cos’x = % (1 + cos2x)
AN CalSS aa Il g

Ex.j cos’x dx

1
= Ej (1 + cos2x)dx
=1(x+lsin2x)+c =lx+lsin2x+c
2 2 2 4

Ex. fSin4x dx
= f(Sin2 x)? dx :f(% (1 —cos2x))?dx = fi(l — cos2x)? dx

= if(l — 2c0s2x + cos*2x) dx

= %f(l — 2co0s2x + %(1 + cos4x)) dx

NI

[x — 2% % sin2x + %(x + %Sin4x] +C

1 1 . 1 1
==X —=sin2x +-x+—sindx +c¢
4 4 8 32

3 1 . 1 .
==x —=8IN2X + —sSindx + C
8 4 32
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Ex. [V1—sin2x dx

.2 :
= f\]SlTl X + cos?x — 2sinx cosx dx

. . 2
= \/coszx — 2sinx cosx + sin"x dx

= f\/(cosx — Sinx)2 dx
=F [(cosx — sinx) dx

=+ (sinx + cosx)+ c
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tan’x = sec’x-1

cot’x = csc’x-1
A OIS a1 s
Ex. [ cot? 5x dx
= [(csc?5x — 1) dx

= _?1cot5x—x +c

Ex. [ tan® 4x dx
= [ sec’4x- 1 dx

= %tanélx—x +c
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( cot™ , tan™, sec™ , csc™) Clilkia Lula

=N
tan"x — sin x
cosx
cos'x 1
cot™x = =
sin™x tan"x
1
sec'x = —
cosx
1
cscx = —5
sin x
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EX. [ tanx cosx dx

sinx
= [ . cosx dx
CoOSX

= [sinx dx = —cosx + ¢

1+tan?x
Ex. [ dx

tan3x

= [tan3x (1 + tan®x) dx = [tan™3x sec®x dx

2

tan™“x -1
=——+4C =
-2 2 tanx
EXftanX dX
"J cos?x
2 tan?x 1.,
= [tanx sec”xdx= S TC =5 tanX +c




